FO: Deformation gradient tenseur in the beginning of a time step
F1: Deformation gradient tenseur in the end of a time step
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F1: DFGRD1 en ABAQUS
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Where, N_increment is time step and N_increment _totale is the total number of
time steps.

At the begining: N_increment _totale = N_increment =1

If the convergence wasn’t reached, these values will change.
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Finally, we calculate the shear stress of each slip system using Cauchy stress and
Schmid matrice g . Where, « Is » and « ns » are the direction and the normal of the

slip system.
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